

On the Diophantine Equations $3^x + 6^y = z^2$ and $5^x + 8^y = z^2$

Balchandar Reddy Sangam

Department of Mathematics
Birla Institute of Technology & Science, Pilani, Hyderabad, India
Email: sbr18334@gmail.com

Received 2 June 2020; accepted 4 July 2020

Abstract. In this article, we show that the Diophantine equation $3^x + 6^y = z^2$ has a finite number of solutions whereas the equation $5^x + 8^y = z^2$ has no solutions in positive integers x, y, z .

Keywords: Exponential Diophantine equations

AMS Mathematics Subject Classification (2010): 11D61

1. Introduction

A Diophantine equation is a polynomial equation that takes only integer values. There are various forms of diophantine equations studied by different mathematicians [5-7] in the last couple of decades.

The famous general equation $p^x + q^y = z^2$ has many forms. The literature contains a very large number of articles on non-linear such individual equations involving particular primes and powers of all kinds. In 2011, Suvarnamani [8] proved that the solution to the diophantine equation of the form $2^x + p^y = z^2$ is $(x, y, z) = (2k, 1, 1 + 2k)$ if $p = 1 + 2^{k+1}$. Various authors [2-4] have investigated equations of the form $p^x + (p + n)^y = z^2$. Burshtein [1] has considered an equation $7^x + 10^y = z^2$ of a similar form and proved that the equation has no solutions in positive integers x, y, z . Again Burshtein [9-10] in recent times, has also studied various diophantine equations of the similar form.

In this article, we study the Diophantine equations of the form

$$p^x + (p + n)^y = z^2 \text{ when } n = 3.$$

We consider two equations $3^x + 6^y = z^2$ and $5^x + 8^y = z^2$ with p as 3, 5 respectively.

2. Results

In this section, we find all the solutions to $3^x + 6^y = z^2$ and $5^x + 8^y = z^2$, in positive integers x, y, z .

Theorem 2.1. The equation

$$3^x + 6^y = z^2 \tag{1}$$

has finite solutions in positive integers x, y, z .

Balchandar Reddy Sangam

Proof: When $y = 1$, we have the first solution as **(1,1,3)** and this is the only solution possible as $3(3^{x-1} + 2)$ cannot be represented as a perfect square for any other value of x .

Considering $y > 1$,

As the left side of (1) is always odd, this indicates that z is odd.

As 3^x ends in 1,3,7 or 9, 6^y ends in 6, and z^2 ends in 1,5 or 9. For the left side of (1) to end in 1, 5 or 9, 3^x should end in 3 or 9 which indicates that x is either $1 \pmod{4}$ or $2 \pmod{4}$. Furthermore, considering mod 4 on (1), we have the right side to be $1 \pmod{4}$, and 6^y to be $0 \pmod{4}$ for any $y > 1$ and for 3^x to be $1 \pmod{4}$, x should be $2 \pmod{4}$.

Replacing x with $4m + 2$ in (1), we get

$$3^{4m+2} + 6^y = z^2 \quad (2)$$

Case (i): Considering y to be even, we have

$$\begin{aligned} 3^{4m+2} + 6^{2n} &= z^2 \\ 3^{4m+2} &= z^2 - 6^{2n} = (z - 6^n)(z + 6^n) \end{aligned} \quad (3)$$

Right side of (3) will be denoted as,

$$3^A = (z - 6^n), \quad 3^B = (z + 6^n), \quad A < B, \quad A + B = 4m + 2.$$

We have, $3^B - 3^A = 2 \cdot 6^n$ which is $3^A(3^{B-A} - 1) = 2^{n+1}3^{2n}$.

As 3^A is odd and $3^{B-A} - 1$ is even,

$$\begin{aligned} \text{we have,} \quad 3^{B-A} - 1 &= 2^{n+1}3^{2n-A} \\ 3^{B-A} - 2^{n+1}3^{2n-A} &= 1 \end{aligned} \quad (4)$$

As the left side of (4) is divisible by 3, so for the equation to hold, the power of 3 on the left side should be 1. Which makes (4) to be

$$3^{2n-A}(3^{B-2n} - 2^{n+1}) = 1, \quad (5)$$

In which, $3^{2n-A} = 1$.

So, $A = 2n$, (5) becomes $(3^{B-2n} - 2^{n+1}) = 1$.

The only positive solutions to the equation of the form,

$$3^x - 2^y = 1 \text{ are } (1,1) \text{ and } (2,3). \quad (6)$$

Therefore, $B - 2n = 1, n + 1 = 1$ (or) $B - 2n = 2, n + 1 = 3$

Considering $B - 2n = 1, n + 1 = 1$, we obtain

$n = 0$, which indicates that $A = 0, B = 1$ and $m = \frac{-1}{4}$. We don't have any solutions, as m is not an integer.

Considering $B - 2n = 2, n + 1 = 3$, we get $n = 2$, which indicates that $A = 4, B = 6$ and $m = 2$.

Here, we have the second solution as (6, 4, 45).

Case (ii): Considering y to be odd, we have

$$\begin{aligned} 3^{4m+2} + 6^{2n+1} &= z^2 \\ 6^{2n+1} &= z^2 - 3^{4m+2} = (z + 3^{2m+1})(z - 3^{2m+1}) \end{aligned} \quad (7)$$

Here we denote (7) as,

On the Diophantine Equations $3^x + 6^y = z^2$ and $5^x + 8^y = z^2$

$$z + 3^{2m+1} = 2^A 3^B, z - 3^{2m+1} = 2^C 3^D, A + C = 2n + 1, B + D = 2n + 1.$$

We have,

$$\begin{aligned} 2^A 3^B - 2^C 3^D &= 2 \cdot 3^{2m+1} \\ 2^{A-1} 3^{B-1} - 2^{C-1} 3^{D-1} &= 3^{2m} \end{aligned} \quad (8)$$

As 3^{2m} is odd, for the left side of (8) to be odd, one among 2^{A-1} and 2^{C-1} should be 1.

Consider $2^{A-1} = 1$, which implies that $A = 1$.

We rewrite (8) as,

$$\begin{aligned} 3^{B-1-2m} - 2^{C-1} 3^{D-1-2m} &= 1 \\ 3^{D-1-2m} (3^{B-D} - 2^{C-1}) &= 1 \end{aligned}$$

Here, $3^{D-1-2m} = 1, D = 1 + 2m$.

Then, we have $3^{B-D} - 2^{C-1} = 1$

According to (6), one set of solutions to the equation of this form is (1,1)

so, $B - D = 1$ and $C - 1 = 1$.

We have $C = 2, A = 2n - 1$, as $A = 1$ we have $n = 1$.

As $B + D = 2n + 1$ and $B - D = 1$, we get $B = 2, D = 1$ and $m = 0$.

Here, we have the third solution as (2,3,15).

The other set of solutions is (2,3).

so, $B - D = 2$ and $C - 1 = 3$.

We have $C = 4, A = 2n - 3$, as $A = 1$ we have $n = 2$. As $B + D = 2n + 1$ and $B - D = 2$, we get $B = \frac{7}{2}$, which is not an integer. Hence, there are no solutions.

Consider $2^{C-1} = 1$, which implies that $C = 1$.

We rewrite (8) as,

$$\begin{aligned} 2^{A-1} 3^{B-1-2m} - 3^{D-1-2m} &= 1 \\ 3^{B-1-2m} (2^{A-1} - 3^{D-B}) &= 1 \end{aligned}$$

Here, $3^{B-1-2m} = 1, B = 1 + 2m$.

Then we have, $2^{A-1} - 3^{D-B} = 1$ (9)

Only solutions to the equation of the form (9) are (1,0) and (2,1).

Considering $A - 1 = 1$ and $D - B = 0$, we have

$A = 1, B = D$, as $B + D = 2n + 1, B = \frac{2n+1}{2}$ which is not an integer, this implies that there are no solutions.

Considering $A - 1 = 2$ and $D - B = 1$, we get

$A = 3, C = 1$, as $A + C = 2n + 1$, we have $A = 2n$, so $n = \frac{3}{2}$ which is not an integer.

Hence, there are no solutions.

So, we have exactly 3 solutions to $3^x + 6^y = z^2$ in positive integers x, y, z , the solutions are (1,1,3), (2,3,15) and (6,4,45).

Theorem 2.2. The equation

$$5^x + 8^y = z^2 \quad (10)$$

has no solutions in positive integers x, y, z .

Proof: As the left side of (10) is always odd, this indicates that z is odd.

As 5^x ends in 5, 8^y ends in one among 2,4,6,8 and z^2 ends in 1,5,9. For the left side of (10) to end with 1, 5 or 9, 8^y should end in 4, 6. For 8^y to end in 4 or 6, y should be even.

As $z^2 \equiv 1 \pmod{8}$ for any odd value of z . For the left side of (10) to be $1 \pmod{8}$, 5^x should also be $\equiv 1 \pmod{8}$ as $8^y \equiv 0 \pmod{8}$. For 5^x to be $\equiv 1 \pmod{8}$, x should be even.

As both x, y are even, we represent $x = 2m$ and $y = 2n$. After replacing x with $2m$ and y with $2n$ in (10), we have

$$5^{2m} + 8^{2n} = z^2$$

which is, $5^{2m} = z^2 - 8^{2n} = (z - 8^n)(z + 8^n)$ (11)

we denote the right side of (11) as,

$$z - 8^n = 5^A, \quad z + 8^n = 5^B, \quad A < B, \quad A + B = 2m.$$

Then $5^B - 5^A$ yields

$$5^A(5^{B-A} - 1) = 2 \cdot 8^n \quad (12)$$

As $5^A(5^{B-A} - 1)$ is divisible by 5, whereas $2 \cdot 8^n$ is not, this indicates that $5^A = 1$. Therefore $A = 0$ in (12), and hence $B = 2m$. Then this implies that,

$$5^{2m} - 1 = 2 \cdot 8^n \quad (13)$$

For all values of m , either $5^m - 1$ or $5^m + 1$ is divided by 3, whereas the right side of (13) cannot be represented as a multiple of 3. This implies that (13) cannot be true. Hence, we conclude that there are no positive values of x, y, z , that satisfies (10).

3. Conclusion

In this article, we proved that there are only finitely many solutions to the equation $3^x + 6^y = z^2$ and these solutions has one-one correspondence with the solutions of the equations $3^x - 2^y = 1$ and $2^x - 3^y = 1$. Furthermore, the equation $5^x + 8^y = z^2$ has no solutions in positive integers x, y, z .

Acknowledgements. I would like to thank the referees for their comments and suggestions on the manuscript. I also would like to express my deep gratitude to all the authors in the reference section for their contributions to various open problems in the field of diophantine equations.

REFERENCES

1. N.Burshtein, On solutions to the diophantine equation $7^x + 10^y = z^2$ when x, y, z are positive integers, *Annals of Pure and Applied Mathematics*, 20 (2) (2019) 75-77.
2. B.Sroysang, More on the diophantine equation $2^x + 3^y = z^2$, *International Journal of Pure and Applied Mathematics*, 84 (2) (2013) 133 – 137.
3. S.Chotchaisthit, On the diophantine equation $4^x + p^y = z^2$ where p is a prime number, *Amer. J. Math. Sci.*, 1(1) (2012) 191-193.
4. B.Sroysang, On the Diophantine equation $3^x + 5^y = z^2$, *International Journal of Pure and Applied Mathematics*, 81 (4) (2012) 605-608.

On the Diophantine Equations $3^x + 6^y = z^2$ and $5^x + 8^y = z^2$

5. B.R.Sangam, On a diophantine equation $x^3 - 1/y^3 - 1 = z^2$, *International Journal of Applied and Advanced Scientific Research*, 5(1) (2020) 32-33.
6. D.Acu, On a diophantine equation, *General Mathematics*, 15 (4) (2007) 145-148.
7. B.Sroysang, On the Diophantine equation $3^x + 5^y = z^2$, *Int. J. Pure and Appl. Math.*, 81 (2011) 605-608.
8. S.Kumar, S.Gupta and H.Kishan, On the non-linear diophantine equation $61^x + 67^y = z^2$ and $67^x + 73^y = z^2$, *Annals of Pure and Applied Mathematics*, 18 (1) (2018) 91-94
9. A.Suvarnamani, Solutions of the Diophantine equation $2^x + p^y = z^2$, *Int. J. Math. Sci. Appl.*, 1 (2011) 1415-1419
10. N.Burshtein, On solutions of the Diophantine equation $p^x + q^y = z^2$, *Annals of Pure and Applied Mathematics*, 13(1) (2017) 143- 149.
11. N.Burshtein, On the diophantine equations $2^x + 5^y = z^2$ and $7^x + 11^y = z^2$, *Annals of Pure and Applied Mathematics*, 21 (1) (2020) 63-68.